JO AV FM/21383

Adapter set Volvo FM (2001-), FMX (2010-)
Adaptersats Volvo FM (2001-), FMX (2010-)
Adaptersatz Volvo FM (2001-), FMX (2010-)

Das Adapter-Set ist geeignet zur Montage
folgender Fahrerh&user auf der JOSAM
Fahrerhaus-Richtbank:

This adapter set is capable of mounting Med den har adaptersatsen kan féljande
the following cabs on JOSAM cab bench: hytter monteras pa JOSAM cab bench:

Volvo FM

Volvo FMX
(2020 and later)

Day cab Sleeper cab Globetrotter
Page 5/ Sida 5 / Seite 5 Page 9/ Sida 9/ Seite 9 Page 9/ Sida 9/ Seite 9

Volvo FM
(2001-2019)

Volvo FMX LIBHILIN o Loz
(2010-2019)




JO AV FM/21383

Adapter set Volvo FM (2001-), FMX (2010-)
Adaptersats Volvo FM (2001-), FMX (2010-)
Adaptersatz Volvo FM (2001-), FMX (2010-)

1 JO1303-1
JO13083-2
JO1306

JO193
JO2050-1
J0O2050-2
JO2375
M6S-10X80
M6S-16X30
M6S-8X80

M6S - M16 x 110
M6S - M16 x 40
BRB - 17x30x3
M6M - M16
M86S - M24 x 60
JO260705

© 0o N O O B~ W N

- a4 a4 a4 a4 a4
o o~ W N 2 O

11295
11296
11297
11394
11432
11433
11546
12338
12369
31377
31370
31455
31498
31532
32178
21377

1

N 00 N NN

N

Distance part
Distance part

Rear bracket

Collar

Front bracket right
Front bracket left
Collar

Bolt M6S-10x80
Bolt M6S-16x30
Bolt M6S-8x80
Screw 16x110 8.8
Screw 16x40 8.8
Washer BRB 17x30x3
Nut M6M 16 class-8
Bolt M6S 24x60 8.8

Spacer

Distansstycke
Distansstycke

Bakre faste

Hylsa

Frontfaste Volvo héger
Frontfaste Volvo vanster
Hylsa

Bult M6S-10x80

Bult M6S-16x30

Bult M6S-8x80

Skruv 16x110 8.8
Skruv 16x40 8.8
Bricka BRB 17x30x3
Mutter MEM 16 klass-8
Bult M6S 24x60 8.8

Distans

Einsatzstlck
Einsatzstlck
Hinterhalter

Hulse

Vorderhalter rechts
Vorderhalter links
Halse

Bolzen M6S-10x80
Bolzen M6S-16x30
Bolzen M6S-8x80
Schraube 16x110 8.8
Schraube 16x40 8.8
Scheibe BRB 17x30x3
Mutter M6M 16 Klasse-8
Bolzen M6S 24x60 8.8
Abstandshalter




JO1303-2 JO1303-1 JO193 MBS - M24 x 60 - fzb.

JO1306 M6S - M16 x 30 - fzb.

0o
®,
J02050-2 l

)
#7 (JO2375)
I For Volvo FM, 2001-2019
J0O2050-1 l Till Volvo FM 2001-2019
& l ® Fur Volvo FM 2001-2019
“ e BRB - 17x30x3 - fzb.
@ MBS - M16 x 40 - fzb.
#16 (JO260705)
M6S - M8 x 80 - fzb.

For Volvo FM, from 2020 and later
Till Volvo FM, fran 2020 och senare
Fur Volvo FM, ab 2020 und spéter M6S - M10 x 80 - fzb.

JO260705




This page has intentionally been left blank
Den hér sidan har avsiktligt lamnats tom
Diese Seite ist bewusst ohne Inhalt




Mounting instruction Volvo FM (2020), Day cab
Monteringsinstruktion Volvo FM (2020), Day cab
Montageanleitung Volvo FM (2020), Day cab

JO1303-2 JO1303-1  JO193 M6S - M24 x 60 - fzb.

JO1306 M6S - M16 x 30 - fzb.

! l}/
S/

MBS - M16 x 110 - fzb.

JO2375

°° e M6M - M16 - fzb
e e - - fzb.

‘ l l e _o
J02375
For Volvo FM, 2001-2019
& Till Volvo FM 2001-2019
& 8 BRB - 17x30x3 - fob. Fur Volvo FM 2001-2019

M6S - M16 x 40 - fzb.

JO2050-2

JO2050-1

J0260705

For Volvo FM, from 2020 and later
Till Volvo FM, fr&n 2020 och senare MBS - M10 x 80 - fzb.
Fur Volvo FM, ab 2020 und spater J0O260705

>

Monteringsinstruktionen fortsatter pa nasta sida
Montageanleitung weiter auf der nachsten Seite

[I’ he mounting instruction continues on next pagej




Mounting instruction Volvo FM (2020), Day cab
Monteringsinstruktion Volvo FM (2020), Day cab
Montageanleitung Volvo FM (2020), Day cab

640

135

C-C 1370

D)= e & o @& ¢ & o o [ ] b v 4

C-C 1200

B




Mounting instruction Volvo FM (2020), Day cab
Monteringsinstruktion Volvo FM (2020), Day cab
Montageanleitung Volvo FM (2020), Day cab

JO1306

M6S - M16 x 30 - fzb. JO1303-2

J0O260705 (FM After 2021 with Gap 82) M6S - M10 x 80 - fzb

BRB - 17x30x3 - fzb. M6S - M16 x 40 - fzb.

BRB - 17x30x3 - fzb.

M6M - M16 - fzb. M6S - M24 x 60 - fzb.

M6S - M16 x 60 - fzb.

JO2050-1
BRB - 17x30x3 - fzb.
M6S - M16 x 110 - fzb.

Tube only to be used for older FM with narrower 71 mm gap.
Spacer only to be used for 82 mm gap.

JO1306

M6S - M16 x 40 - fzb.

BRB - 17x30x3 - fzb. M6S - M10 x 80 - fzb.

M6S - M16 x 110 - fzb. M6S - M16 x 60 - fzb. JO1303-1

M6S - M16 x 30 - fzb.

BRB - 17x30x3 - fzb.

M6M - M16 - fzb.

JO2375 (FM Before 2021)

BRB - 17x30x3 - fzb.

M6S - M24 x 60 - fzb.

JO260705 (FM After 2021) J0O2050-2




This page has intentionally been left blank
Den hér sidan har avsiktligt lamnats tom
Diese Seite ist bewusst ohne Inhalt




Mounting instruction Volvo FM (2020), Sleeper & Globetrotter u |
Monteringsinstruktion Volvo FM (2020), Sleeper & Globetrotter

Montageanleitung Volvo FM (2020), Sleeper & Globetrotter

JO1303-2 JO1303-1  JO193 M6S - M24 x 60 - fzb.

ﬁa}/
&

MBS - M16 x 110 - fzb.

JO1306

l l ¥
I I J02375
For Volvo FM, 2001-2019
‘ Till Volvo FM 2001-2019
“ BRB - 17x30x3 - fzb. Fur Volvo FM 2001-2019

JO2050-2

JO2050-1

M6S - M16 x 40 - fzb.

M6S - M8 x 80 - fzb.
J0260705

For Volvo FM, from 2020 and later
Till Volvo FM, fran 2020 och senare
Fur Volvo FM, ab 2020 und spater

JO260705

>

Monteringsinstruktionen fortsatter pa nasta sida
Montageanleitung weiter auf der nachsten Seite

[I’ he mounting instruction continues on next page}




Mounting instruction Volvo FM (2020), Sleeper & Globetrotter X |
Monteringsinstruktion Volvo FM (2020), Sleeper & Globetrotter

Montageanleitung Volvo FM (2020), Sleeper & Globetrotter

e<f

135

C-C 1370
C-C 1200




Mounting instruction Volvo FM (2020), Sleeper & Globetrotter
Monteringsinstruktion Volvo FM (2020), Sleeper & Globetrotter
Montageanleitung Volvo FM (2020), Sleeper & Globetrotter

JO260705 (FM After 2021 with Gap 82) JO1306

M6S - M8 x 80 - fzb.

M6S - M16 x 30 - fzb.

JO1303-1
BRB - 17x30x3 - fzb.
M6M - M16 - fzb. M6S - M16 x 40 - fzb.

BRB - 17x30x3 - fzb.

J0O2050-1 M6S - M16 x 60 - fzb.

MBS - M24 x 60 - fzb.
BRB - 17x30x3 - fzb.

BRB - 17x30x3 - fzb.

JO2375

Used for older FM with narrower 71mm Gap.
Remove the spacers for 82mm Gap.

JO1306

M6S - M16 x 40 - fzb.
BRB - 17x30x3 - fzb.

M6S - M8 x 80 - fzb.

BRB - 17x30x3 - fzb.

MBS - M16 x 60 - fzb. JO1303-2

MBS - M16 x 110 - fzb. BRB - 17x30x3 - fzb. MBS - M16 x 30 - fzb.

JO260705 (FM After 2021) M6M - M16 - fzb.

JO2375 (FM Before 2021)

M6S - M24 x 60 - fzb.
JO2050-2

J0O260705 (FM After 2021)

BRB - 17x30x3 -




This page has intentionally been left blank
Den hér sidan har avsiktligt lamnats tom
Diese Seite ist bewusst ohne Inhalt




Mounting instruction VOLVO FM & FMX L1EH1/L1H1
Monteringsinstruktion VOLVO FM & FMX L1EH1/L1H1
Montageanleitung VOLVO FM & FMX L1EH1/L1H1

JO1303-2 JO1303-1  JO193 M6S - M24 x 60 - fzb.

JO1306 M6S - M16 x 30 - fzb.

! l}/
&

I 6S - M16 x 110 - fzb.
@
(&)
e_e
e ©_@e
e _e_ ©_@o M6M - M16 - fzb.
| °s°

@
i 1,°
JO2375
For Volvo FM, 2001-2019
‘ Till Volvo FM 2001-2019
.‘ BRB - 17x30x3 - fzb. Fur Volvo FM 2001-2019
M6S - M16 x 40 - fzb.
JO260705

For Volvo FM, from 2020 and later
Till Volvo FM, fr&n 2020 och senare MBS - M10 x 80 - fzb.
Fur Volvo FM, ab 2020 und spater J0O260705

JO2050-2

JO2050-1

>

Monteringsinstruktionen fortsatter pa nasta sida
Montageanleitung weiter auf der nachsten Seite

[I’ he mounting instruction continues on next pagej




Mounting instruction VOLVO FM & FMX L1EH1/L1H1
Monteringsinstruktion VOLVO FM & FMX L1EH1/L1H1
Montageanleitung VOLVO FM & FMX L1EH1/L1H1

640

135

C-C 1370

D)= e & o @& ¢ & o o [ ] b v 4

C-C 1200




Mounting instruction VOLVO FM & FMX L1EH1/L1H1
Monteringsinstruktion VOLVO FM & FMX L1EH1/L1H1
Montageanleitung VOLVO FM & FMX L1EH1/L1H1

JO1306

M6S - M16 x 30 - fzb. JO1303-2

J0O260705 (FM After 2021 with Gap 82) M6S - M10 x 80 - fzb

BRB - 17x30x3 - fzb. M6S - M16 x 40 - fzb.

BRB - 17x30x3 - fzb.

M6M - M16 - fzb. M6S - M24 x 60 - fzb.

M6S - M16 x 60 - fzb.

JO2050-1

BRB - 17x30x3 - fzb.
M6S - M16 x 110 - fzb.

Tube only to be used for older FM with narrower 71 mm gap.
Spacer only to be used for 82 mm gap.

JO1306

M6S - M16 x 40 - fzb.

BRB - 17x30x3 - fzb. M6S - M10 x 80 - fzb.

M6S - M16 x 110 - fzb. M6S - M16 x 60 - fzb. JO1303-1

M6S - M16 x 30 - fzb.
BRB - 17x30x3 - fzb.

M6M - M16 - fzb.
JO2375 (FM Before 2021)

BRB - 17x30x3 - fzb.

M6S - M24 x 60 - fzb.

JO260705 (FM After 2021) J0O2050-2




This page has intentionally been left blank
Den hér sidan har avsiktligt lamnats tom
Diese Seite ist bewusst ohne Inhalt




Mounting instruction VOLVO FM & FMX L2H1/L2H2/L2H3
Monteringsinstruktion VOLVO FM & FMX L2H1/L2H2/L2H3
Montageanleitung VOLVO FM & FMX L2H1/L2H2/L2H3

JO1303-2 JO1303-1  JO193 M6S - M24 x 60 - fzb.

ﬁa}/
&

MBS - M16 x 110 - fzb.

JO1306

JO2375

M6M - M16 - fzb.

l l l e e
I I J02375
For Volvo FM, 2001-2019
& Till Volvo FM 2001-2019
N ™ BRB - 17530x3 - b, Fir Volvo FM 2001-2019

JO2050-2

JO2050-1

M6S - M16 x 40 - fzb.

M6S - M8 x 80 - fzb.
J0260705

For Volvo FM, from 2020 and later
Till Volvo FM, fran 2020 och senare
Fur Volvo FM, ab 2020 und spater

JO260705

>

Monteringsinstruktionen fortsatter pa nasta sida
Montageanleitung weiter auf der nachsten Seite

[I’ he mounting instruction continues on next pagej




Mounting instruction VOLVO FM & FMX L2H1/L2H2/L2H3
Monteringsinstruktion VOLVO FM & FMX L2H1/L2H2/L2H3
Montageanleitung VOLVO FM & FMX L2H1/L2H2/L2H3

135

C-C 1370

C-C 1200




Mounting instruction VOLVO FM & FMX L2H1/L2H2/L2H3
Monteringsinstruktion VOLVO FM & FMX L2H1/L2H2/L2H3
Montageanleitung VOLVO FM & FMX L2H1/L2H2/L2H3

JO260705 (FM After 2021 with Gap 82) JO1306

M6S - M8 x 80 - fzb.

M6S - M16 x 30 - fzb.
JO1303-1
BRB - 17x30x3 - fzb.
M6M - M16 - fzb. M6S - M16 x 40 - fzb.

BRB - 17x30x3 - fzb.

J0O2050-1 M6S - M16 x 60 - fzb.

MBS - M24 x 60 - fzb.
BRB - 17x30x3 - fzb.

BRB - 17x30x3 - fzb.
JO2375

Used for older FM with narrower 71mm Gap.
Remove the spacers for 82mm Gap.

JO1306

M6S - M16 x 40 - fzb.
BRB - 17x30x3 - fzb.

M6S - M8 x 80 - fzb.

BRB - 17x30x3 - fzb.

MBS - M16 x 60 - fzb. JO1303-2

MBS - M16 x 110 - fzb. BRB - 17x30x3 - fzb. MBS - M16 x 30 - fzb.

JO260705 (FM After 2021) M6M - M16 - fzb.

JO2375 (FM Before 2021)

JO2050-2 M6S - M24 x 60 - fzb.

J0O260705 (FM After 2021)

BRB - 17x30x3 - fzb.




This page has intentionally been left blank
Den hér sidan har avsiktligt lamnats tom
Diese Seite ist bewusst ohne Inhalt




